ASSEMBLY INSTRUCTION

MODEL : CF 9488 (6')

___ Headboard

1 pc
N
Footboard
C2
Cl /
/ 2 pes
Side Rail
Headboard
Legs 2pes
53x1035(H)
Footboard
G Legs 2 pes
Wooden Leg
60x60x350H
/ 2 pes
Center Rail
2000mm
Support Leg | 4 pes
250mm

Step 1 : Unzip the black non-woven fabric on the back of headboard legs.

BACK VIEW

Step 2 : Install the headboard legs (D) to headboard (A). Tighten the legs.

BACK VIEW

14 Pcs Slat
1797mm
-\ 1 pc
M4 x 65mm
\ 1pc
MS x 70mm
@H 16 pcs
JCBB M8 X 20
M 4 pes
JCBC M6 X 40
O—mmmm | pes
JCBC M6 X 50
mn,m_a M4 x 25mm | 4 pcs
Mnmx M4 x 32mm | 34 pes
&/ 6 pes
M6 Spring Washer
@ o
M6 Flat Washer
@ 12 pes
M8 Spring Washer
@ 12 pes
M8 Flat Washer
Small Adjuster
@ L-Bracket | 2PCS

Step 3 : Attach the footboard legs (E) to the footboard (B) with L-Bracket (U) as shown.

Do not fully tighten !

BACK VIEW

Step 4 : Attach footboard (B) to the side rail (C) as shown.

® v p®E
_ \ _._ A Do not fully tighten !
)

BACK VIEW




Step 5 : Attach side rail (C) to the headboard (A) as shown.

Step 6 : Attach the support legs (G) to the center rail (F) of the bed as shown.

ATTENTION: Please keep the adjuster around
5 to 8 mm distant away from the floor.

X 2

Step 7 : Slide the center rail (F) to the headboard (A) and footboard (B). Tighten screws (N) using screw driver (not included) to the
headboard (A) and footboard (B).

Attention : Please ensure that (N) screw is attached
as per the A.I shown to avoid possibility of base
collapsing.

Step 8 : Affix the slat (H) to the support wood on side rail (C) and the center rail (F). Tighten all the 4 corner.




